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Max. Marks : 75
SECTION A – (10 × 2 = 20 marks)
Answer any TEN questions
1. What is branch?
2. Write a short note on 'stock and debtor system'.
3. What is direct expenses?
4. Give a short note on 'Goods in Transit'.
5. Explain the departmental accounts.
6. What is hire purchase trading account?
7. Define goodwill.
8. What is revaluation account?
9. What is sacrificing ratio?
10.  What is piece meal distribution of cash?
11.  What is dissolution of firm?
12. Write a note on 'Garner Vs Murray Rule'.
SECTION B – (5 × 5 = 25 marks)
Answer any FIVE questions
13. Differentiate hire purchase system and instalment purchase system.
14. A and B divide profit in 7:3 . They admit C into partnership to share 2/7 th share in the profit. Calculate the new profit sharing ratio.
15. Fancy Clothes Ltd opened a branch on 1st January,1998 at Delhi. The figures given below are for the year 1998
Goods sent to Branch  

          
      ` 25000
Sales   : Cash        
                 
                        ` 10000
              Credit        
               
                        ` 18000
Cash received from debtors 

               ` 16000
Discount allowed to them      

               `     300
Cash sent to branch for expenses 
               `   3500
Stock on 31st December 1998          
               `   4000 
prepare Branch Account
16. From the following details, prepare Departmental Account:
	Particulars
	Department A
               `
	Department B                                                         

                `

	Opening stock
Total purchases
Total sales

Closing stock

Credit purchases

Credit sales
	9000
27000

42000

10800

17000

5000


	8400
21600
36000
4800
10600
6000


Transfer of goods from Department A to B       `4000.
Transfer of services from Department B to A    `500.
17. On 1-1-86, X purchased machinery on hire purchase system .The payment is to be made `4000 down (on signing of the contract) and `4000 annually for three years. The cash price of the machinery is `14900 and the rate of interest is 5%.Calculate the interest in each year’s instalment.

18. A and B are partners sharing profits in the ratio of 5:3. On admission of a new partner C they decide to revalue the assets and liability of the firm.
(a) Increase the value of building by `22000.
(b) Unrecorded investment of `4000 to be brought into account.
(c) Decrease the stock by `2000 and furniture by `1000.
(d) Write off sundry creditors by `1000.
Prepare the Revaluation Account. 
19. Ram, Rahim and Suresh share profits in the ratio 3:2:1. On 31.12.94,their Balance Sheet was as follows;

	LIABILITIES
	`
	ASSETS
	`

	Creditors
General Reserve
Capital:
Ram
Rahim
Suresh
	12000
3000
20000
15000
10000
	Machinery
Stock
Debtors
Goodwill
Cash
	25000
11000
9500
13000
1500


	TOTAL
	60000
	TOTAL
	60000


On the above date, the firm was dissolved .The assets except cash realized Rs .60000. The Creditors were settled at `11500. Dissolution expenses amounted to `800. Give necessary Ledger accounts.
SECTION C – (2 × 15 = 30 marks)
Answer any TWO questions 
20. Raja & Co of Madras sends goods to branch at Tanjore at Cost plus 25%. All cash received by branch is remitted to the Head Office . All expenses are paid from Madras. From the following particulars, show how the branch Account will appear in the books of head office.

                        Stock on 1.1.89   (invoice price)                                                       ` 12500

                        Stock on 31.12.89  (invoice price)                                                    ` 15000

                        Debtors  on 1.1.89                                                                             ` 12000

                        Debtors  on 31.12.89                                                                         ` 32500

                        Goods sent to Madras  (invoice price)                                              ` 60900

                        Remittance to Madras :

                                          Cash Sales                              


                  ` 16000

                                          Cash received from Debtors                                          ` 29500

                       Goods returned to Head Office                                                        `   2400

                 Cheque received from Madras    :

                       Wages and Salaries                                                                           ` 11000

                        Rent                                                                                                  `  3000

                        Sundry Expenses                                                                              `    510

21. The following purchases were made by a business house having three departments.

                  Department A -   1000 units

                  Department B -   2000 units

                        Department C  -  2400 units    at a total cost of `1,00,000.

      
Stock on 1st January were:

                        Department  A -  120 units

                        Department  B -    80 units

                        Department  C -  152 units.

                 Sales were:

                       Department  A  -  1020 units at `20 each

                       Department  B  -  1920 units at `22.50 each

                       Department  C  -  2496 units at `25 each, the rate of gross profit is same in each case prepare                    

         departmental trading A/c.          
       
22. Balaji and company purchased from the vendor two machines of `10500 each on hire purchase system. The payment was to be made ` 6000 down and the reminder in three equal instalments of ` 5000 each together with interest at 5% per annum. Balaji and companies writes off depreciation at 10 % per annum on written down value. They could not pay their second instalment. After negotiations, it was agreed that vendors would leave one plant with the purchaser, adjusting the value of the other against amount due, treating the machine at 20% depreciation on diminishing balance. Show accounts in the books of balaji and company.

23. The following is the Balance Sheet of X, Y and Z as at 30.12.94.

	LIABILITIES
	                                           `
	ASSETS
	`

	Capitals:

X 

Y

Z

Y’s loan

Creditors
	75000

22500

67500

13000

62000
	Plant & Machinery

Land & Buildings

Stock

Debtors


	50000

100000

20000

70000

	TOTAL
	240000
	TOTAL
	240000


On the above date, they decided to dissolve the firm and to repay the amounts due to                        partners as and when the assets were realized viz.

                                               I      Realization     `    45000

                                               II     Realization    `  109500

                                               III   Realization     `   70500

                             Prepare the Statements showing how the distribution should be made.
—————
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